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1. A particle moves along the x-axis so that its velocity for [0,9] is given by »{t sine . CALC
OK.
a) At t=6, is the particle moving to the right, left, or neither? Explain. 7 f
M =6, the padicde S moing JebF bl v(6) s negatve. $:1,154
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b) At @@, is the particle’s acceleration positive or negative? Justify your answer. /,/f"”
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c) On what intervals from [0, 9] is the velocity of the particle positive? Justify your answer.
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d) On what intervals from [0, 9] is the acceleration of the particle negative? Justify your answer.

A(Celgmkcﬂ 0 Af{gaﬁue wheq VH) i &6Cf€&$’fﬁgf (’ '57, 5, 12 3) and (7. [f"f“}, cf)

e) On what interval(s) is the particle at rest on the interval [0, 10]? Justify your answer.
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f) Stretch: At what times on [0, 9] is the acceleration of the particle zero? Justify your answer.
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2. A particle moves along the x-axis in such a way that its position at time t for t >0 is given by s(t) =
5 cost(x) + %x + 1. The velocity of the particle is given by v(t) = —5 sin(x) + % CALC OK.
a) Initially, is the particle moving to the right, left, or neither? Explain.
L\}\?Mfy Means W/LCI\ f:(}
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VoY=-B.5 V(©6)is pesilive, so the purfidle is moving right

b) Initially, is the particle to left or the right of the origin? Justify your answer.
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c) Initially, is the particle Enoving toward or away from the origin? Justify your answer. ’
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d) On what intervals from [0, 10] is the acceleration of the particle negative? Justify your answer.
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e) On what interval(s) is the particle moving to the right on the interval [0, 10]? Justify your answer..
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f) At what times is the particle at the origin? V”(Q
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3. Let’s use the function v(t) = (¢t + 1)(t + 4)3(3t — 2). NO CALC.

a. Make a sign chart. When is the partlcyl\e at rest? | : v A
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b. When is the particle moving to the right? Left? Sketch a graph of 6| 5 41 -3 -2 o
the velocity. // ;
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4. Let’s use the function v(t) = e‘t? — 5tet + 6et
a. When is the partlcle at rest? A
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b. When is the particle moving to the right? Left? ‘ .
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